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1.   


a) 100 b) 103 c) 105
d) 107 e) 

2. 

A.   

B.   

C.   

D.   

A B C D A B C D
a) 1 2 3 4 b) 2 4 1 3
c) 3 4 2 1 d) 3 4 1 2
e) 

3.  


a)  b) 

c)  d) 

e) 

4. “

”  


a)  b)  c) 

d)  e) 

5. “”

a)  b)  c) 

d)  e) 

6.     


a)  b)  c) 

d)  e) 

7. 

a)  b)  c) 

d)  e) 

8.  


a) 18 b) 19 c) 20
d) 21 e) 

9. 


a)  b)  c) 

d)  e) 



10. 



a)  b) 

c)  d) 

e) 

11. 

a)  b)  c) 

d)  e) 

12. 

a)  b)  c) 

d)  e) 

13. 

a)  b)  c) 

d)  e) 

14. Ancestor 

a)  b)  c) 

d)  e) 

15.    


a) 2 b) 3 c) 4
d) 5 e) 

16. 

a)  b)  c) 

d)  e) 

17. 


a) 11 b) 12 c) 13
d) 15 e) 

18. ‘’

a)  b) 

c)  d) 

e) 

19. 


a)  b) 

c)  d) 

e) 

20.   


a) 2001 b) 2003 c) 2004
d) 2005 e) 
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21.   


  
 ‘
’

     ‘’


 ‘’


    


a)  b) 

c)  d) 

e) 

22.    
  



a) 1891 b) 1892 c) 1893
d) 1894 e) 

23. 

a)  b)  c) 

d)  e) 

24. 


a) 7 b) 9 c) 11
d) 12 e) 

25. “

”

a)  b)  c) 

d)  e) 

26. 

a)  b)  c) 

d)  e) 

27.      


a)  b)  c) 

d)  e) 

28. ‘’

a) Prefix b) Suffix
c) Ethnic Group d) Etymological Dictionary
e) 

29. 

a) 

b) 

c) 

d) 

e) 

30.      





a)  b) 

c)  d) 

e) 

31. ‘’

a)  b) 

c)  d) 

e) 

32. Migration 

a)  b) 

c)  d) 

e) 

33. “”

a) 

b) 

c)      


d)  


e) 

34. 

a)  b)  c) 

d)  e) 

35. 

a)  b)  c) 

d)  e) 

36. ‘’


a)  b)  c) 

d)  e) 

37. 

a)  b) 

c)  d) 

e) 

38. ‘’

a)  b)  c) 

d)  e) 

39. “


”

a)  b)  c) 

d)  e) 

40. 

a)  b)  c) 

d)  e) 

41. ‘’

a)  b)  c) 

d)  e) 

42.  




a)  b) 

c)  d) 

e) 

43. 

a)  b)  c) 

d)  e) 
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44. 


‘’

   


a)  b) 

c)  d) 

e) 

45. ‘’

a)  b)  c) 

d)  e) 

46. 

A.   

B.   

C.   

D.   

A B C D A B C D
a) 2 3 4 1 b) 2 4 1 3
c) 3 4 2 1 d) 3 4 1 2
e) 

47. Art Critic 

a)  b) 

c)  d) 

e) 

48.      





a)  b) 

c)  d) 

e) 

49.  


a) 1982 b) 1983 c) 1984
d) 1985 e) 

50.     


a)  b)  c) 

d)  e) 

51.     


a) 500 b) 200 c) 150
d) 100 e) 

52.     


a) 7 b) 9 c) 11
d) 12 e) 

53. 

A.   

B.   

C.   

A B C A B C
a) 3 1 2 b) 3 2 1
c) 2 1 3 d) 2 3 1
e) 

54. 

a) 2 b) 3 c) 4
d) 5 e) 

55. 

a)  b) 

c)  d) 

e) 

56. 

 
    


 



     


  


a) 1, 2 b) 1, 2, 3 c) 1, 2, 4
d)  e) 

57. “   ”  


a)  b)  c) 

d)  e) 

58. ‘’

a)  b)  c) 

d)  e) 

59. 

      


a)  b) 

c)  d) 

e) 

60. ‘’

a)  b) 

c)  d) 

e) 

61.  


     


a)  b) 

c)  d) 

e) 

62. ‘ ’   


a) 2000 b) 2001 c) 2002
d) 2003 e) 

63. 


   


a)  b) 

c)  d) 

e) 
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64. 

 

    


 

     


    


a) 1, 2, 3, 4 b) 1, 3, 4, 5 c) 2, 3, 4, 5
d) 1, 2, 3, 4, 5 e) 

65. 



a)  b) 

c)  d) 

e) 

66. 



    


a)  b) 

c)  d) 

e) 

67.    


a) 1882 b) 1883 c) 1884
d) 1885 e) 

68. Shell Seeds 

a)  b) 

c)  d) 

e) 

69.  


a) 

b)  c) 

d)  e) 

70. 

   


 


    



 

     


a) 1, 3, 4, 5 b) 1, 2, 3, 5 c) 2, 3, 4, 5
d) 1, 2, 3, 4, 5 e) 

71. ‘’

a)  b)  c) 

d)  e) 

72.  





a)  b) 

c)  d) 

e) 

73. ‘’

a) 

b) 

c) 

d) 

e) 

74.  
    


   ‘   
   ’  


a)  b) 

c)  d) 

e) 

75. 

 

A.   

B.   

C.   

D.   

A B C D A B C D
a) 3 4 1 2 b) 2 3 4 1
c) 2 4 1 3 d) 3 1 4 2
e) 

76. 

a) 


b) 


c)    


d) 


e) 

77. 


a) 400 b) 401 c) 402
d) 399 e) 

78. 

A.   

B.   

C.   

D.   

A B C D A B C D
a) 3 4 1 2 b) 2 3 4 1
c) 2 4 1 3 d) 3 1 2 4
e) 



THOOTHUKUDI  99445 11344  |  TIRUNELVELI  98942 41422  |  RAMANATHAPURAM  75503 52916  |  MADURAI  98431 10566 5

79.       



     


a)  b) 

c)  d) 

e) 

80. ‘’

a) 

b) 

c) 

d) 

e) 

81. ‘
’

a)  b) 

c)  d) 

e) 

82. 

A.   

B.   

C.   

D.   

A B C D A B C D
a) 3 4 1 2 b) 2 3 4 1
c) 2 4 1 3 d) 3 1 2 4
e) 

83. ‘
’

a)  b)  c) 

d)  e) 

84.      
    


      
 ‘  ’  





a)  b) 

c)  d) 

e) 

85. 

a)  b)  c) 

d)  e) 

86. 

a)  b)  c) 

d)  e) 

87.     
‘’


‘’


  ‘’ 


a)  b) 

c)  d) 

e) 

88.  


a) 10 b) 11 c) 12
d) 13 e) 

89. ‘’  


a)    


b) 


c)    


d) 


e) 

90.        
 




a)  b) 

c)  d) 

e) 

91. 

A.   

B.   

C.   

D.   

A B C D A B C D
a) 2 3 4 1 b) 2 4 1 3
c) 4 3 2 1 d) 3 1 4 2
e) 

92.      



a) 15, 72 b) 21, 97 c) 19, 68
d) 17, 84 e) 

93. ‘’




a) 

b) 

c) 

d) 

e) 

94. ‘’

a)  b)  c) 

d)  e) 

95.      ‘’
   

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‘’


a)  b) 

c)  d) 

e) 

96. ‘ ’  


a)  b)  c) 

d)  e) 

97. 






a)  b) 

c)  d) 

e) 

98. ‘’

a)  b)  c) 

d)  e) 

99.     


a) 1845 b) 1846 c) 1847
d) 1848 e) 

100.

A.   

B.   

C.   

D.   

A B C D A B C D
a) 3 4 1 2 b) 2 3 4 1
c) 2 4 1 3 d) 3 1 2 4
e) 

General English (100)
1. “Tending onward to the ocean,

Just like mortal prime”
Here mortal prime means?
a) the man is in the best age of his life
b) the man is in the old age of his life
c) the man is in the young age of his life
d) the man is in the youth age of his life
e) Answer not known

2. Who admired the things which Isaac manufactured ?
a) The neighbours b) The clock maker
c) The Father d) His mother
e) Answer not known

3. Find  out the error:
Taj Mahal is one of the wonder of the world
    A             B               C                           D
a) A b) B c) C
d) D e) Answer not known

4. Caroline Ann Bowles lived between
a) 1785-1864 b) 1786-1854 c) 1782-1853
d) 1788-1869 e) Answer not known

5. Find out the figure of speech
O’er the  yellow pebbles dancing
a) Imagery b) repetition c) epithet
d) simile e) Answer not known

6. Find out the figure of speech
“Through the flower and foliage glancing”
a) Repetition b) connotation c) Alliteration
d) Oxymoron e) Answer not known

7. Find out the error:
Jim is one of the best student in the class
    A               B                   C               D
a) A b) B c) C
d) D e) Answer not known

8. Find out the figure of speech ?
“Over rock, by rose banks, sweeping
like impetuous youth”

a) Simile b) metaphor c) Connotation
d) oxymoron e) Answer not known

9. Broad and deep, and still as time,
seeming still, yet still in motion,
What is broad and deep?
a) rock b) river c) river - bank
d) Ocean e) Answer not known

10. Give the correct example for epithet
a) Little River b) swelling River
c) Brimming River d) All the above
e) Answer not known

11. Who was the step father of Isaac ?
a) Duke b) Industrialist
c) owner of the mill d) clergyman
e) Answer not known

12. Who took  care of Isaac after his mother’s remarriage?
a) His good old grandmother
b) His good old grand father c) His neighbour
d) His relation e) Answer not known

13. Isaac was chiefly remarkable for his ingenuity in all
mechanical occuasions
Here ingenuity means
a) inability b) creativity c) ignorance
d) clumsiness e) Answer not known

14. Find out the fighure of speech
Sea that line hath never sounded
Sea that sail hath never sounded
a) Anaphora b) simile c) metaphor
d) personification e) Answer not known

15. A. rose banks 1. with the head first
B. tending - river 2. banks where roses appear
C. head long 3. going in a particular way

A B C A B C
a) 2 3 1 b) 1 2 3
c) 3 1 2 d) 2 1 3
e) Answer not known
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16. Choose the correct work of caroline Ann Bowles ?
a) The little Ladybird b) Chapter on churchyard
c) Tales of the factories d) All the above
e) Answer not known

17. Find out the error:
This bag is too heavy for lift
a) A b) B c) C
d) D e) Answer not known

18. Like a child at play.
Here the poet compares the river to ?
a) Child b) young boy c) young girl
d) old one e) Answer not known

19. River, River, little river the figure of speech used here is
a) Assonance b) simile c) Metaphor
d) Repetition e) Answer not known

20. After the death of Newton’s father, Her mother mar-
ried again and went to reside at _______
a) Nottingham b) woolsthorpe
c) North witham d) Bringham
e) Answer not known

21. Find out the Error
A body of volunteers / have been organized / to help the
faculty members / in their attempt to raise the funds.
a) A body of volunteers
b) have been organized
c) to help the faculty members
d) in their attempt to raise the funds
e) Answer not known

22. Find out the Error
Most of the news/ pertaining to the sudden demise
of the spiritual gur/ have been communicated by some
of the ruffians / whom I Know well./ NO error
a) Most of the news
b) pertaining to the sudden demise of the spiritual gur
c) have been communicated by some of the ruffians
d) whom I Know well
e) Answer not known

23. Nathaniel Hawthorne lived between
a) July 5 1805- May 19, 1864
b) July 4, 1804 - May 19 1864
c) Dec 25 1642 - 31march 1727
d) June 6, 1864 - May 5, 1905
e) Answer not known

24. Find out the error:
Though she is weak she was active
   A             B          C             D
a) A b) B c) C
d) D e) Answer not known

25. When did sir Isaac Newton born on
a) 25 Dec 1642 b) 25 Dec 1641 c) 25 Dec 1640
d) 25 Dec 1643 e) Answer not known

26. Isaac seemed to have been born with a saw or
_______in his hand.
a) Axe b) chisel c) shovel
d) pen e) Answer not known

27. Who said this lines about Isaac “No fear but what
Isaac will do well in the world, and be a rich mam
before he dies” ?
a) His mother b) His grand mother
c) clock maker d) Nathaniel Hawthorne
e) Answer not known

28. Find out the error:
He is confident off his success
  A  B        C                     D
a) A b) B c) C
d) D e) Answer not known

29. Find out the Error
Not only the doctor / but also the nurses of this nursing
/ home is very kind and helpful / to the attendants.
a) Not only the doctor
b) but also the nurses of this nursing
c) home is very kind and helpful
d) to the attendants
e) Answer not known

30. Find out the Error
Everybody among the businessmen / were enjoying drink-
ing / when the manager of the hotel /  was shot dead.
a) Everybody among the businessmen
b) were enjoying drinking
c) when the manager of the hotel
d) was shot dead
e) Answer not known

31. Find out the Error
The publisher says / that there is / many inportant
facts to be resolved / before this book gets printed
a) The publisher says
b) that there is
c) many inportant facts to be resolved
d) before this book gets printed
e) Answer not known

32. Find out the Error
Our principal assured / us that lectures on Tagore /
was to be arranged / the following week and so we
should not create any nuisance.
a) Our principal assured
b) us that lectures on Tagore
c) was to be arranged
d) the following week and so we should not create

any nuisance
e) Answer not known

33. Who seemed himself as a child ?
a) Isaac b) Isaac’s friend c) Nathaniel
d) no one e) Answer not known

34. Find out the Error
If any proof was needed to show that the United
Nations / have lately become a policy tool in the hands
of the US and that / the world’s solc might has a sub-
servient international body. it was provided / by presi-
dent Obama’s angry comment.
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a) If any proof was needed to show that the United
Nations

b) have lately become a policy tool in the hands of
the US and that

c) the world’s solc might has a subservient
international body. it was provided

d) by president Obama’s angry comment
e) Answer not known

35. Who thought that “Isaac was destined to explain
many matters which had been a mystery ever since
the creation of the world” ?
a) His grandmother b) His friends
c) His mother d) His neighbours
e) Answer not known

36. Find out the Error
Each faulty member as/ well as most of the students
/ were of the view that there should / be many new
courses.
a) Each faulty member as
b) well as most of the students
c) were of the view that there should
d) be many new courses
e) Answer not known

37. Find out the Error
Measles are a disease/ caused by a virus contact with
fluids from / and infected person’s nose and mouth/
either directly or through aerosol transmission.
a) Measles are a disease
b) caused by a virus contact with fluids from
c) and infected person’s nose and mouth
d) either directly or through aerosol transmission
e) Answer not known

38. Isaac contrived to make many curious articles Here
contrived means,
a) invented b) investigated c) creativity
d) delighted e) Answer not known

39. Find out the Error
If Mahatma Gandhi / was alive / he would start weep-
ing / to see the present condition of India.
a) If Mahatma Gandhi
b) was alive
c) he would start weeping
d) to see the present condition of India
e) Answer not known

40. Who advised grandmother to take him to a clock
maker ?
a) Some of his friends b) his aunt c) his enemies
d) his mother e) Answer not known

41. Isaac’s grandmother to apprentice him to a
clockmaker, Here apprentice means,
a) Work for someone to learn skill
b) Work for themselves  to learn skill
c) Work for their selves
d) work for high salary
e) Answer not known

42. What would have been very useful to Isaac in his pro-
fession ?
a) taste of mathematics
b) taste of philosophy c) taste of engineering
d) taste of biology e) Answer not known

43. Isaac’s clocks
a) Contain sets of dancing figures,
b) a ship sails across the face of the clock
c) Pendulum vibrates
d) all the above
e) Answer not known

44. Find out the error:
Sheela is junior than me
    A       B    C             D
a) A b) B c) C
d) D e) Answer not known

45. Isaac devoted himself to the manufacture of ______
a) clocks b) theories c) tools
d) laws e) Answer not known

46. What was made the great wonderment to all the
people in his neighbourhood?
a) made a clock by the dropping of sand
b) made a clock by the dropping of water
c) made a clock by the dropping of needle
d) made a clock by the dropping of sound
e) Answer not known

47. He pried into its intern
Here pried means
a) interfior b) accepted c) investigated
d) Naglected e) Answer not known

48. Isaac had constructed a model of the windmill
Though not so large, He supposed as one of the box -
traps which boys set to catch ______
a) Pals b) bees c) squirrels
d) snake e) Answer not known

49. “Isaac’s playmates were enchanted with his new
windmill” Here enchanted means
a) delighted b) denoted c) devoted
d) deleted e) Answer not known

50. Find out the error:
Iron is useful than any other metal
  A    B           C                  D
a) A b) B c) C
d) D e) Answer not known

51. “Where is the miller ?” Who asked this line to whom
a) Isaac asked to his friend
b) one of his friends asked to Isaac
c) neighbour asked to him
d) Clock maker asked to him
e) Answer not known

52. Find out the error:
He gave me an one - rupee note
A      B     C       D
a) A b) B c) C
d) D e) Answer not known
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53. According to Isaac what was not discovered by him ?
a) Bountiful ocean b) boundless ocean
c) low of maths d) law of science
e) Answer not known

54. According to Nathaniel, who Ceased to live on earth?
a) Isaac - 1727 b) Isaac - 1728 c) Isaac - 1737
d) Isaac - 1739 e) Answer not known

55. Whose voice is this ?
“I suppose if sir Isaac Newton had only thought of it,
he might have found out the steam - engine, and
railroads and all the other famous inventions that
have come into use since his day”.
a) Isaac b) George c) Nathaniel
d) Daviel e) Answer not known

56. Which country David Rittenhouse was belonged to ?
a) America b) Africa c) Australia
d) Canada e) Answer not known

57. What is the man’s greatest invention ?
a) Wheel b) gravity law c) Evolution
d) farming e) Answer not known

58. Match the following :
A. foliage 1. the third person singular form a word have
B. Hath 2. life continuing without end after death
C. eternity 3. a cluster of leaves

A B C A B C
a) 2 1 3 b) 3 1 2
c) 1 2 3 d) 3 2 1
e) Answer not known

59. A. swelling 1. acting quickly
B. glancing 2. becoming greater in intensity
C. impetuous 3. touching (or) hitting without caus-

ing the damage
A B C A B C

a) 1 2 3 b) 2 1 3
c) 2 3 1 d) 3 2 1
e) Answer not known

60. Lalitha takes a late night walk in the beach _________
a) Once in a blue moon b) Grey area
c) mad as a hornet d) on cloud nine
e) Answer not known

61. The women crickets were _____in their last over of
the match
a) Looking stunning b) literal c) on the balld)
live and breathe e) Answer not known

62. Next - week, Prasanth has planned _______
a) to visit the country side b) under the stairs
c) out of the bag d) out of the pocket
e) Answer not known

63. Fill in the blank with correct idiom :
He was ________ while stealing those sweets.
a) Caught red handed b) fish out of water
c) Black - sheep d) one - horse town
e) Answer not known

64. Where did sir Isaac Newton born at ?
a) City of woolsthorpe in England
b) Village of woolsthorpe in England
c) City of Nottingham in England
d) town of york shire in England
e) Answer not known

65. Nathaniel Hawthorne was on
a) American Novelist and short stroy writer
b) Dark Romantic c) B alone
d) a and b e) Answer not known

66. Where did Nathaniel born in
a) Salem, Massa chusetts
b) sylum, massachusetts c) salem, woolsthrope
d) sylum, woolsthrope e) Answer not known

67. Where was the biography of sir Isaac Newton pub-
lished in Nathaniel Hawthorne’s work ?
a) True stories form Biography and History
b) True stories form Science and Biography
c) True stories form History and Biography
d) Ture stories from Biography and science.
e) Answer not known

68. Find out the error
There are / much students / in my class
a) There are b) much students c) in my class
d) No error e) Answer not known

69. Find out the Error
Is there any difficulties / in disposing of this gorgeous build-
ing / build in such a spacious / and beautiful campus.
a) Is there any difficulties
b) in disposing of this gorgeous building
c) build in such a spacious
d) and beautiful campus
e) Answer not known

70. Find out the Error
Her pugnacious daughter / always do something that
may incur insult / on her neighbours who hold a wrong
/ opinion about her famil.
a) Her pugnacious daughter
b) always do something that may incur insult
c) on her neighbours who hold a wrong
d) opinion about her famil
e) Answer not known

71. Find out the error:
I prefer coffee than tea
A           B             C      D
a) A b) B c) C
d) D e) Answer not known

72. Where does the river spend its younger days ?
a) Through rocks b) through flowers
c) into ocean d) into sea
e) Answer not known

73. Find out the Error
You may / obey your parents / all the time.
a) You may b) obey your parents c) all the time
d) No error e) Answer not known
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74. Find out the Error
Although these buildings are / in need of repair,/ there
have been much improvement / in their appearance
a) Although these buildings are
b) in need of repair
c) there have been much improvement
d) in their appearance
e) Answer not known

75. Find out the Error
There appears / a number of new faces in the show /
and I really do not know where they have / come
from and why.
a) There appears
b) a number of new faces in the show
c) and I really do not know where they have
d) come from and why
e) Answer not known

76. Abdul as well as karim _____ praise
a) deserves b) have  deserved c) deserve
d) deserving e) Answer not known

77. Find out the Error
Have either of / the two candidates been/ Selected
for the post of Dy. G.M. / in the HCL
a) Have either of
b) the two candidates been
c) Selected for the post of Dy. G.M.
d) in the HCL
e) Answer not known

78. Find out the Error
Nobody except he / was present / at the party
a) Nobody except he b) was present
c) at the party d) No error
e) Answer not known

79. The teacher or the boys ___ responsible for the problem
a) are b) were c) is
d) both (a) and (b) e) Answer not known

80. Inspite of his poverty and setbacks he was able to
launch his carrier.
a) Inspite of his poverty b) he was able
c) to launch d) his carrier
e) Answer not known

81. Find out the Error
Was he a bird / he would definitely fly to you / and say
he could not / live without you.
a) he would definitely fly to you
b) Was he a bird c) and say he could not
d) live without you. e) Answer not known

82. Find out the Error
He often say that / it are these obscene films / that
lead the youth to their moral degradation / and are
responsible for many evils growing in our society.
a) He often say that
b) it are these obscene films
c) that lead the youth to their moral degradation

d) and are responsible for many evils growing in our
society.

e) Answer not known
83. Find out the Error

It is noticed that / the elite person have no soft /
corner for the downtrodden who are the / real vic-
tims of the present social set-up.
a) It is noticed that
b) the elite person have no soft
c) corner for the downtrodden who are the
d) real victims of the present social set-up
e) Answer not known

84. A Variety of liquids ______Present
a) is b) are c) were
d) b and c e) Answer not known

85. Find out the Error
Every man and woman / of the village have come out
/ to see this strange child / who claims to know every-
thing about his prenatal existence.
a) Every man and woman
b) of the village have come out
c) to see this strange child
d) who claims to know everything about his prenatal

existence
e) Answer not known

86. Find out the Error
Mita as well / some of her friends/ have fallen in love
with Alok who / is the eldest son of a minister.
a) Mita as well
b) some of her friends
c) have fallen in love with Alok who
d) is the eldest son of a minister.
e) Answer not known

87. Five miles ______a large distance
a) is b) were c) are
d) has e) Answer not known

88. Where is the existence of sun -dial clock made by
Isaac ?
a) Woolsthorpe b) Yorkshire
c) North windhan d) none
e) Answer not known

89. Fill in the blanks:
He jumped against the wind, and by the length of his
jump, he could calculate the force of a gentle breeze,
a brisk gale or ________
a) Wind b) Tempest c) storm
d) windy e) Answer not known

90. Even in Isaac’s boyish sports, he was continually
searching out he secrets of ______
a) mathmatics b) philosophy c) gravitation
d) manufacturering e) Answer not known

91. Find out the Error
The leader as well as / his followers are fatally injured
in the accident which occurred last night /  near this
railway crossing.
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a) The leader as well as
b) his followers are fatally injured
c) in the accident which occurred last night
d) near this railway crossing
e) Answer not known

92. My grandfather is well known in the village for his
nobel deeds
a) My father b) is well known
c) in the village d) for his hobel deeds
e) Answer not known

93. Find out the error:
Sitting near the window and he saw the crowd
     A                    B                 C               D
a) A b) B c) C
d) D e) Answer not known

94. Find out the Error
The request of the workers / Union that their wages
shold be / increased were supported by / vast majority.
a) The request of the workers Union that
b) Union that their wages shold be
c) increased were supported by
d) vast majority.
e) Answer not known

95. Find out the Error
One of the developing or underdeveloped / countries
are in favour of launching / chemical warfare because
it fear/ to imagime its repercussions.
a) One of the developing or underdeveloped
b) countries are in favour of launching
c) chemical warfare because it fear
d) to imagime its repercussions
e) Answer not known

96. Find out the Error
Some highly significant / observations has been made
by the UN/ Secretary General, Mr.Ban - ki Moon / in
his annual report submitted to the current session of

General Assembly.
a) Some highly significant
b) observations has been made by the UN
c) Secretary General, Mr.Ban - ki Moon
d) in his annual report submitted to the current

session of General Assembly.
e) Answer not known

97. Find out the Error
Neither sania / nor Maria were to take to her heels /
when they saw a cobra laying / at the gate.
a) Neither sania
b) nor Maria were to take to her heels
c) when they saw a cobra laying
d) at the gate
e) Answer not known

98. Many a student ____awarded at the function
a) was b) were c) being
d) are e) Answer not known

99. Find out the Error
We should not forget that / we have a right to criti-
cize but / at the same time each of us / have to re-
member the duty also.
a) We should not forget that
b) we have a right to criticize but
c) at the same time each of us
d) have to remember the duty also
e) Answer not known

100.Find out the Error
Those athletes who / did not adhere to the rules of
athletics / was deprived of taking part / in the
chapionship.
a) Those athletes who
b) did not adhere to the rules of athletics
c) was deprived of taking part
d) in the chapionship
e) Answer not known

Aptitude (25)
101.The mean of a group of 20 items was found to be 40.

While checking it was found that an item 43 was
wrongly written as 53. Calculate the correct mean.
   




a) 39.5 b) 43 c) 53 d) 10
e) Answer not known / 

102.The mean of the 5 members is 32. If one of the number
is excluded, then the mean is  reduced by 4. Find the
total excluded number.
 


a) 43 b) 48 c) 46 d) 47
e) Answer not known / 

103.The marks obtained by 10 students in a test are 15, 75,
33, 67, 76, 54, 39, 12, 78, 11. Find the arithmetic mean
 15, 75,
33, 67, 76, 54, 39, 12, 78, 11 


a) 460 b) 46 c) 23 d) 230
e) Answer not known / 

104.Arithmetic mean of the values 9, 6, 7, 8, 5 and x is 8,
then the value of x is
9, 6, 7, 8, 5 x x 


a) 48 b) 13 c) 15 d) 12
e) Answer not known / 

105.The population of a town is 176400. It increases an-
nually at the rate of 5% per annum. What will be its
population after 2 years?
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
    


a) 194781 b) 194681 c) 194581 d) 194481
e) Answer not known / 

106. The value of an old car is Rs.45,000. If the price is
decreased by 15%. Find it new price.



a) ` 38,250 b) ` 39,350 c) ` 40,250 d) ` 41,250
e) Answer not known / 

107. The population of a village grows by r% every year. In
2 years the population increases from 10000 to 11025.
Then r is
r
  
  r


a) 5% b) 3.5% c) 2.5% d) 1.5%
e) Answer not known / 

108.The maximum temperature in a city on 7 days of a cer-
tain week was 34.80C, 38.50C, 33.40C, 34.70C, 35.80C,
32.80C, 34.30C. Find the mean temperature for the week.
 
34.80C, 38.50C, 33.40C, 34.70C, 35.80C,
32.80C, 34.30C  


a) 34.80C b) 34.90C c) 34.70C d) 35.20C
e) Answer not known / 

109. The value of a machine decreases by 5% every year.
If the purchase price is Rs. 60,000, after three years
the value of the machine is

     


a) ` 51,442.50 b) ` 65,144.25
c) ` 5,144.25 d) ` 6,514.43
e) Answer not known / 

110. The population of a city was 2,25,000 at 2018. If it
will be increases at the rate of 12% next year.  What
will be the population of 2019 ?

    


a) 2,52,000 b) 2,50,000 c) 2,47,500 d) 2,52,500
e) Answer not known / 

111. The value of a machine depreciates by 10% each year.
A man pays Rs.50000 for the machine. Find its value
after three years




a) ` 35,650 b) ` 36,450 c) ` 35,450 d) ` 37,450
e) Answer not known / 

112. Find the missing term :


CX, DW, EV, _____ GT
a) AZ b) HS c) EV d) FU
e) Answer not known / 

113. Which number should come in the place of the ques-
tion mark?


11 13 16
5 4 3
4 5 ?

59 57 56

a) 6 b) 4 c) 8 d) 7
e) Answer not known / 

114. What comes next?


K, 15W, J, 18X, I, 21Y, .....
a) H, 51Y b) H, 51X c) H, 24Z d) H, 51W
e) Answer not known / 

115. In the first 10 overs of a cricket game, the run rate
was only 3.2. What should be the run rate in the re-
maining 40 overs to reach the target of 282 runs?
  

     



a) 6.25 b) 6.5 c) 6.75 d) 7
e) Answer not known / 

116. In a class of 20 students, 5 students have scored 76
marks each, 7 students have scored 77 marks each
and 8 students have scored 78 marks each, then com-
pute the mean of the class.
   







a) 77.51 b) 77.15 c) 77.10 d) 77.01
e) Answer not known / 

117. If the average of the values 18, 41,x, 36, 31, 24, 37,
35, 27, 36 is 31. Find the value of x.
18, 41,x, 36, 31, 24, 37, 35, 27, 36 

x 

a) 25 b) 24 c) 30 d) 26
e) Answer not known / 

118. What is next? 0, 0.5,0.6666....,0.75,?
? 0, 0.5,0.6666....,0.75,?
a) 0.87 b) 0.85 c) 0.8 d) 0.79
e) Answer not known / 

119.Find the value of 109
1.....

54
1

43
1

32
1











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109
1

.....
54

1
43

1
32

1









  

a) 10
5

b) 5
2

c) 20
1

d) 10
1

e) Answer not known / 

120.What is the next term of the sequence
1,8,27,64,125,216...
1,8,27,64,125,216... 

a) 343 b) 412 c) 400 d) 250
e) Answer not known / 

121.The mean of 5 numbers is 25. If one of the number is
excluded then the mean becomes 20. The excluded
number is

  


a) 45 b) 40 c) 20 d) 10
e) Answer not known / 

122.The average age of a family consist Father, Mother
and a Child is 20. If after seven years the age of child
will be 11. What was the average age of parent one
day before the child born?
     
      


?
a) 24 b) 20 c) 18 d) 16
e) Answer not known / 

123.What comes next?


e) Answer not known / 

124.What comes next ?
c + y, d + x + 1, e + w + 2, f + v + 3, ........


c + y, d + x + 1, e + w + 2, f + v + 3, ........
a) h + u + 4 b) g + z + 4 c) g + s + 4 d) g + u + 4
e) Answer not known / 

125.Find out the missing term in the series : 126, 217,
344, ____, 730
 126, 217,
344, ____, 730
a) 511 b) 512 c) 513 d) 514
e) Answer not known / 

General Studies (25)
126.Consider the following statements and choose the

incorrect one.
a) Part IX of the Constitution of India pertaining to

the Panchayats provided for setting up of a Fi-
nance Commission.

b) Part IX of the Constitution of India pertaining to
the Panchayats provided for vesting all elections
to the Panchayats in a State Election Commission.

c) Part IX of the Constitution of India pertaining to
the Panchayats provided for reservation of posts
of chairpersons at the village level or any other
level for the Scheduled Castes, Scheduled Tribes
and women.

d) The first National Panchayati Raj Day was de-
clared on 24 April by the Prime Minister Narendra
Modi in 2016.

e) Answer not known
   


a) 

IX 

b) 

IX  


c) 

IX 

 

   



d) 

 



e) 

127.An Inter-State Council may be established by:
a) The Parliament
b) The President
c) The National Development Council
d) The Zonal Council
e) Answer not known


a)  b) 

c)  d) 

e) 

128.What is the present headquarters of central zonal
council in India ?
a) Noida b) Kolkata c) Allahabad
d) Patna e) Answer not Known




a)  b)  c) 

d)  e) 
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129. What is the minimum strength of a legislative assem-
bly in a state prescribed by constitution of India ?
 



a) 40 b) 50 c) 60 d) 70
e) Answer not Known / 

130. Under Article 213, the Governor of a State is empow-
ered to:
a) Exercise discretionary powers
b) Promulgate ordinances during the recess of the

Legislature
c) Appoint a Judge of the State High Court
d) Exercise his emergency powers
e) Answer not known


a) 

b) 



c) 

d) 

e) 

131. The Eleventh Schedule of the Constitution relating to
the Panchayats contains:
a) 18 items b) 28 items c) 19 items
d) 29 items e) Answer not known
 



a)  b)  c) 

d)  e) 

132. Which one of the following States was the first to
introduce the Panchayati Raj system in 1959 ?
a) Tamil Nadu b) West Bengal c) Rajasthan
d) Uttar Pradesh e) Answer not known




a)  b) 

c)  d) 

e) 

133. Assertion (A): Article 1 of the Constitution of India
describes India as a Union of States rather than a
federal state.
Reason (R): Indian federation is not the result of an
agreement by the units; and the component units
have no freedom to secede from it.
a) Both A and R are individually true and R is the

correct explanation of A
b) Both A and R are individually true but R is not the

correct explanation of A
c) A is true but R is false
d) A is false but R is true
e) Answer not known

 (A)      
    


 (R)  
     
    


a) 


b) 


c) 

d) 

e) 

134. The first Madras Legislative Assembly session was
held on _________
a) 3rd May 1951 b) 5th June 1952 c) 3rd May 1952
d) 5th June 1951 e) Answer not Known
 


a)  b)  c) 

d)  e) 

135. Which one of the following pairs is incorrect ?
a) Statutory grants - Article 275
b) Discretionary grants - Article 282
c) GST council - Article 269A
d) Finance Commission - Article 280
e) Answer not Known


a) 

b) 

c) 269A
d) 

e) 

136. Consider the following Committees set up to study
the structure, powers and functions to be assigned
to Panchayati Raj Institutions:
1. L.M.Singhvi Committee
2. G.V.K.Rao Committee
3. Balwant Rai Mehta Committee
4. Ashok Mehta Committee
Which one of the following is their correct chrono-
logical order?
   




   G.V.K.

   

a) 2-3-1 b) 1-2-3 c) 2-1-3 d) 1-3-2
e) Answer not known

137. Under which one of the following provisions is reser-
vation for the Scheduled Castes and the Scheduled
Tribes in every Panchayat made?
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a) Article 243 (Q) b) Article 243 (V)
c) Article 243 (S) d) Article 243 (D)
e) Answer not known
    
   


a) 243 (Q) b) 243 (V) c)  243 (S)
d)  243 (D) e) 

138.Which Schedule of the Constitution of India contains
the three lists that divide powers between the Union
and the states ?
a) Fifth Schedule b) Sixth Schedule
c) Seventh Schedule d) Eighth Schedule
e) Answer not known

    


a)  b) 

c)  d) 

e) 

139.Which one of the followings statements is / are true ?
1. Article 269 - Taxes levied and collected by the

Centre but assigned to the state.
2. Article 271 : Surcharge on certain taxes and du-

ties for purposes of the centre.
a) 1 only b) 2 only c) Both
d) None e) Answer not Known


      



      


a)  b)  c) 

d)  e) 

140.Consider the following statements and select the in-
correct statement/s (When the legislative assembly
is subject to dissolution).
1. A Bill Pending in the assembly lapses.
2. A Bill passed by the assembly but pending in the

council does not lapse.
3. A Bill pending in the council but not passed by the

assembly lapses.
   



   


 


   


a) 1 & 2 b) 2 & 3 c) 1 & 3 d) 1, 2 & 3
e) Answer not Known/ 

141. In the Constitution of India, the term ‘Federal’:
a) Figures in the Preamble
b) Figures in Part III of the Constitution
c) Figures in Article 368
d) Does not figure anywhere
e) Answer not known
‘’

a) 

b)  III 

c) 

d) 

e) 

142.Which of the following are the sources of revenue of
urban local bodies?
1. Property tax 2. Land Tax
3. Income Tax 4. House Tax
Select the correct answer using the codes given be-
low:
a) 1 and 2 b) 2, 3 and 4 c) 1, 3 and 4
d) 1, 2 and 4 e) Answer not known




   

   

a) 1  2 b) 2, 3  4 c) 1, 3  4
d) 1, 2  4 e) 

143.Which one of the followings is not a voluntary provi-
sions given to Panchayat Raj System ?
a) Endowing the Gram Sabha with Powers
b) Determining the manner of election of the

chairperson of the village Panchayat
c) Providing reservation of seats for backward.
d) fixing tenure of five years for Panchayats at all

levels
e) Answer not Known
  



a) 

b) 



c) 

d) 



e) 

144.Which of the following are functions to which the
scope of the discretionary powers of the Governor is
limited?
1. The appointment of the Chief Minister
2. The dismissal of the Ministry
3. The dissolution of the Legislative Assembly
4. Ordinance Making
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Choose the correct answer from the codes given be-
low:
a) 1, 2 and 3 b) 1, 2, 3 and 4 c) 1, 3 and 4
d) 2, 3 and 4 e) Answer not known
  



 

 

 

 

  



a)  b)  c) 

d)  e) 

145. Who was the Chairperson of a committee on
rationalisation of Panchayat Statistics in 1960 ?
a) Balwant Rai Mehta
b) V.R.Rao c) R.R.Diwahar
d) Ashok Mehta e) Answer not Known
 

   



a)  b) 

c)  d) 

e) 

146. Which Article of the Constitution defines the duties
of the Chief Minister ?
a) Article 162 b) Article 164 c) Article 165
d) Article 167 e) Answer not known




a)  b)  c) 

d)  e) 

147. Which one of the following states does not have bi-
cameral legislatures ?
a) Bihar b) Madhya Pradesh c) Telangana
d) Karnataka e) Answer not known




a)  b)  c) 

d)  e) 

148. Which of the following federal principles are not found
in Indian federation?
1. Bifurcation of the judiciary between the Federal

and State Governments
2. Equality of representation of the states in the

upper house of the Federal Legislature
3. The Union cannot be destroyed by any state se-

ceding from the Union at its will
4. Federal Government can redraw the map of the

Indian Union by forming new States

Select the correct answer using the codes given be-
low:
a) 1, 2 and 3 b) 2, 3 and 4 c) 1 and 2
d) 3 and 4 e) Answer not known



    



  



 


   
   



a)  b)  c) 

d)  e) 

149.What is the time-limit within which a non-money Bill
has to be sent to the State Legislature by the Gover-
nor for reconsideration?
a) 14 days b) One month
c) Three months d) No time limit specifed
e) Answer not known
   




a)  b) 

c)  d) 

e) 

150. Which one of the following statements is correct?
a) The same person can be appointed as Governor

of three states.
b) A Governor can be appointed only in consulta-

tion with the Chief Minister of the State con-
cerned.

c) A Governor has no power to entrust any of the
functions of the state to Government of India
even with the latter’s consent.

d) Only a person who has completed 30 years of age
can be appointed as Governor of a state.

e) Answer not known


a)     


b)   



c)   

 




d) 



e) 


